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MATHEMATICS TEST

8 Minutes—8 Questions

DIRECTIONS: Solve each problem, choose the correct
         but some of the problems may best be done without

answer, and then fill in the corresponding oval on your
         using a calculator.

answer document.




         








         Note:Unless otherwise stated, all of the following should

Do not linger over problems that take too much time.    
         be assumed.

Solve as many as you can; then return to the others in

the time you have left for this test.


         1. Illustrative figures are NOT necessarily drawn to scale.







         2. Geometric figures lie in a plane.

You are permitted to use a calculator on this test. You
         3. The word line indicates a straight line.

may use your calculator for any problems you choose,  
         4. The word average indicates arithmetic mean.

	Pre-Algebra 23% ~ about 14 out of 60



	1.  Tom has taken 5 of the 8 equally weighted tests in his

U.S. History class this semester, and he has an average score of exactly 78.0 points. How many points does he

need to earn on the 6th test to bring his average score up to exactly 80.0 points?

A. 90

B. 88

C. 82

D. 80

E. 79


	2.  An integer from 100 through 999, inclusive, is to be chosen at random. What is the probability that the number chosen will have 0 as at least 1 digit?

A.  
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900


B.  
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900


C.  
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D.  
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	3.  The number 40.5 is 1,000 times greater than which of the following numbers?

A. 0.405

B. 0.0405

C. 0.0450

D. 0.00405

E. 0.000405


	Elementary Algebra 17% ~ about 10 out of 60



	4.  What values of x are solutions for 
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A. 4 and 2

B. 2 and 0

C. 2 and 4

D. 0 and 2

E. 6 and 8



	Intermediate Algebra 15% ~ about 9 out of 60



	5.  Given f (x) 4x 1 and 
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, which of the following is an expression for f (g(x)) ?
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	Coordinate Geometry  15% ~ about 9 out of 60



	[image: image25.emf]6.  If point M has a nonzero x-coordinate and a nonzero y-coordinate and the coordinates have opposite signs, then point M must be located in which of the 4 quadrants labeled below?

A. I only

B. III only

C. I or III only

D. I or IV only

E. II or IV only



	Plane Geometry 23% ~ about 14 out of 60

	7.  Lines a, b, c, and d are shown below and a || b. Which

[image: image26.emf]of the following is the set of all angles that must be supplementary to ∠x ?

F. {1, 2}

G. {1, 2, 5, 6}

H. {1, 2, 9, 10}

J. {1, 2, 5, 6, 9, 10}

K. {1, 2, 5, 6, 9, 10, 13, 14


	8.  In the figure below, B lies on 
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A. 90°

B. 60°

C. 45°

D. 30°

E. Cannot be determined from the given information




ANSWER KEY
1. A. His average score is the total number of points he has received divided by the number of tests he has taken. If his average is 78 over 5 tests, then he has earned 78*5 = 390 points. To have an average of 80 over 6 tests, he needs a total of 480 points. So on the 6th test, he must receive a score of 480 – 390 = 90 in order to boost his grade.

2. D. There are 9 groupings of hundreds from 100 to 999, and if we count the intergers that have at least one zero in just one group, we can multiply that number by 9 to get the answer. Students must be careful to not overlook possibilities, and to not double count any numbers. So, 110, 120, 130, 140, etc all qualify, as well as 100, 101, 102, 103, etc. We should have 19 possibilities in each group, multiplied by 9 groups and we get 171. 
3. B. 40.5 / 1000 = 0.0405
4. A. Rewrite the expression as 
[image: image19.wmf]0

8

2

2

=

-

-

x

x

and solve using the quadratic formula



5. H. Substitute the expression for g(x) for x in the function f(x). 
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and now distribute the 4
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and combine like terms:
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6. E. In the first quadrant, both coordinates have positive signs. In the third quadrant, both have negative signs. In the 2nd and 4th quadrants, the coordinates have opposite signs.
7. H. The key is noticing that line d is not necessarily parallel to line c. At that point, it might help to rotate the picture so that lines a & b are horizontal. Then x must be supplementary (add up to 180o) with angles 1, 2, 9, and 10.

8.  
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Choice B.
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